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1 The velocity distribution for laminar flow between parallel plates is given by
2

“ 2y :
Hmax h

k“' -:;‘ffk where /1 is the distance separating the plates and the origin is placed midway between the Y
plates. Consider flow of water at 15°C with maximum speed of 0.05 m/s and /z = 5 mm. — \ . -'l 3, Q "N 5{{{ } 5

Calculate the force on a 0.3 m? section of the lower plate and give its direction.
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«}\] Consider the flow field given by V = ax’yi — byj + czk, Wh:ﬂl'c a = 1 m §7°, |
~® 5 _ 3¢ andc = 2m"}-s). Determine (a) the number of dimensions of the flow, }
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P~ \ (b) if it is a possible incompressible flow, and (c) the acceleration of a fluid particle at
i point (x, ¥, z) = (3, 1,2).
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rate is 2 m>/min. Deter-
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Standard air enters a 0.3 m diameter duct. The volume : .‘ o en - b %
mine whether the flow is laminar or turbulent. ( @=11 Aalnad) L= L3RG e
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VEN: Journal bearing, as shown: Note that the gap width,
25" 1. is-half the diametral clearance, Lubricant 15_5@.

" 30 6il at 210°. Speedis 3600 tpini. ' 1
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***** (b) - Power diséipated.

6‘“ State the convention for designating the nine components of the stress field.
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